C OHEM JIMLEUCTA!




Pa3sBuBaem
BbIYUCITUTESIbHYIO




Hanaute 3HavyeHue BbipaXKeHUS.

(42210 : 201 -196 : 14 ) - 205 + 9820

14 196 210 40180 50000




M. B. /lomonocoe

Poounca 21 noaopa 1711 200a
8 Apxanzenvckou 2yoepruu 6
0. /lenucoeka oauz Xonmozop
8 cembe KpecmvAHUHA-
nomopa.
Coin 2ocyoapcmeennozo
KpecmbAHUHA,
Jlomonocoe évipoc e yciosusax

CesepopyccKoul Kyibmypbol,
MeCHO C8A3AHHOI C
MpaouyuAMU 0ONEempoECcKou

Pycu.




VPOR-Ghaskd
119 TSNS,

Ynpowenue Bbzpaxeuuz}’







1)(35+a)2=|]+2a
2)([1-11)10=140-10x
3)3b-12=(b-4) |
4)[1+[]=7-(y +11)
5)[]'(4dm-[])=20m -15
6)9c+[]=(9+6)]]



1) (35 +a)2=70+ 2a
2)([1-11D-10 =140 -10x
3)3b-12=(b-4) ]
4)[1+[]=7-(y +11)
5)[]'(4dm-[])=20m -15
6)9c+[]=(9+6)]]



1) (35 +a)2=7/70+2a
2) (14 - x)-10 = 140 -10x
3)3b-12=(b-4) ]
4)[ 1+ ] =7-(y +11)
5)[]'(4dm-[])=20m -15
6)9c+[|=(9+6)|]



1) (35 +a)2=7/70+2a
2) (14 - x)-10 = 140 -10x
3)3b-12=(b-4)-3
4)[ 1+ ] =7-(y +11)
5)[]'(4dm-[])=20m -15
6)9c+[|=(9+6)|]



1) (35 +a)2=70+2a
2) (14 - x)-10 = 140 -10x
3)3b-12=(b-4)-3
4)7y+ 77 =7(y+11)
5)[]-(4m-[])=20m -15
6)9c+[|=(9+6)|]



1) (35 +a)2=70+2a
2) (14 - x)-10 = 140 -10x
3)3b-12=(b-4)-3
4)7y+ 77 =7(y+11)

5) 5:(4m - 3) = 20m -15
6)9c+[|=(9+6)|]



1) (35 +a)2=70+2a
2) (14 - x)-10 = 140 -10x
3)3b-12=(b-4)3
4)7y+ 77 =7(y+11)

5) 5:(4m - 3) =20m -15
6)9c + 6c=(9+0)cC






1) 93-137-73-137=

2) 934-76+76-66=

3) 438-93-238-93=



1) 93-137-73-137=
=137-(93 -73)=137-20=2740

2) 934-76+76-66=

3) 438-93-238-93=



1) 93-137-73-137=
=137-(93 -73)=137-20=2740

2) 934-76+76-66=
=76-(934+66)=76-1000=76000

3) 438-93-238-93=



1) 93-137-73-137=
=137-(93-73)=137-20=2740

2) 934-76+76-66=
=76-(934+66)=76-1000=76000

3) 438-93-238-93=
=03-(438-238)=200-93=18600






YNpocTuUTe BbipaeHne u
HananTe ero 3Ha4vYeHue.

1) 412 + 93y - 33y, ecniny = 30



PelueHue.
1) 412 + 93y - 33y = 412+60y.
Ecnny =30, T0412 + 60y =
=412 + 60-30 =412 +1800 =

= 2212



YNpOCTUTE BbIpaXXeHne n
HanauTe ero 3HavYeHue.

2) 7(5x - 2y) + 15x -180,
ecnny =95, x=50.



PelwieHune.
/(5 - 2y) + 15x — 180 =
=35x — 14y + 15x — 180 =
= 50x — 14y — 180.
Ecniny =5, x=50, TO
50x — 14y — 180 =
=50-50-14-5-180 =
= 2500 -70-180 = 2250.






a) 25y-9y+78=350

b) 992:(120-2k)=62

a) 12m+2m-12=30

b) 850:(2y-35)=50



17 52 3 26
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3 17 20 52
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